423500

425%'3 ..w

190500

= 6150000




427000 L 427 500 428000




428500 = 20000 429500
I
£151500
"
.
&
;_:,‘J,f' £151000
_4f
£180500
6190000 |




:.
| 6185500

—— ]

T #
i
- |
i
= 61859000
i
I ]
|
i |
I ¥
- _._,.—lll—lln,..‘I
. . I E S~
- ﬁ 5
6188500 | | |
- ol |
- ' I I
. T II I
i y
%] 3
i ':n"
. i
1 ¥ -
"
[’
= 6183000
= P
- = h ’ 1
C &
42..-,':”:”] 426000 |_ _L | .










	Printing Map - 2021-02-21_Abramzevo_Topo_GGC_z16
	Printing Map - 2021-02-21_Abramzevo_Topo_GGC_z16
	Printing Map - 2021-02-21_Abramzevo_Topo_GGC_z16
	Printing Map - 2021-02-21_Abramzevo_Topo_GGC_z16
	Printing Map - 2021-02-21_Abramzevo_Topo_GGC_z16
	Printing Map - 2021-02-21_Abramzevo_Topo_GGC_z16

